EECS/CSE 70A Network Analysis |
Homework #4

Due on or before
5/11/2018, Friday 5pm in the box in front of EH 4404

(You can submit your homework in any of the Tuesday or
Thursday discussions before or on 5/11/2018)
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Problem 2: Find L, (5pts).
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Problem 3: The current flowing through the capacitor is given as a function of
time in the following figure.

Plot the voltage of the capacitor, V.(t), and the charge of the capacitor, q(t).
Assume the initial voltage of the capacitor is zero (V(0)=0).
Mark the axis of your plots with numbers and units. (10pts)
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Problem 4: The current flowing through the in the inductor is given as a function
of time in the following figure. Plot the voltage of the inductor, V/(t).
Mark the axis of your plot with numbers and units. (5pts)
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Problem 5: (RC circuit) In the circuit below the switch cloases at t=0. Write the
expression for the voltage v, for t>0. Please clearly show the time constant
calculation, initial and steady state voltage across the 3uF capacitor (35pts.)
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to find +me constant z=RC, we need +o Ford he Resstanee sees From
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To £ad v (sready State Yale) , we replace Capacitor with open Circuit

, 5K a ' ,
M l Ve ()= Bom Ax L:Z- X 5ka= ;ZL)—V}
+ TBK

: A :
Somh lok £L L

.
Z

S ~ - - | -
\f\O\\\j we. hC\V@z VC({'): V‘; COG) f(VQ(OJ—VC_ (00)) e =

-~

z -—t -
(Vf(t)-_- 75 (1 _e %) _ v | @




Problem 6: (RL circuit) In the circuit below the switch opens at t=0. Write the

expressions first for the current i;and then the voltage v, for t>0. Please clearly

show the time constant calculation, initial and steady state current through the

inductor. (40pts.) @ tlo +he swikch was closed and +he
inductor has Ye(.\d\e(l S-\-eqcl j s+ate (so
't acts like q shor ¢ CircuH')
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, we replace +he inductor wih wire or Short Cireyr

source in the circwit, all +he values

{7-—"7&;,_@0 snce  Yhere is no
Lok loke are zero [ £, @@
| NP S 7
F\‘n&\\j L= (%) +("1_(0)— ’L("O))e T 4 | W(t)= 1.5 € [mHJ

5 |
- i3

. i Jo
X '-1—’;30_ X Lxlo s o=




	EECS70A_Homework04_Spring2018
	EECS70A_Homework04_Solution_Spring2018



